

Date	Day	Race Day	On track	export	Total Handle	# Races	Ave Race
11/29/24	Friday	110	\$14,516	\$200,061	\$214,577	10	\$21,458
11/27/24	Wednesday	109	\$5,855	\$91,656	\$97,511	8	\$12,189
11/26/24	Tuesday	108	\$7,547	\$115,120	\$122,667	9	\$13,630
11/25/24	Monday	107	\$8,363	\$113,932	\$122,295	10	\$12,230
11/22/24	Friday	106	\$6,088	\$115,397	\$121,485	9	\$13,498
11/21/24	Thursday	105	\$5,200	\$123,527	\$128,727	9	\$14,303
11/19/24	Tuesday	104	\$6,391	\$115,177	\$121,568	9	\$13,508
11/18/24	Monday	103	\$7,617	\$113,156	\$120,773	10	\$12,077
11/15/24	Friday	102	\$5,373	\$68,948	\$74,321	9	\$8,258
11/14/24	Thursday	101	\$6,484	\$77,628	\$84,112	9	\$9,346
11/12/24	Tuesday	100	\$5,966	\$79,621	\$85,587	9	\$9,510
11/11/24	Monday	99	\$10,214	\$109,504	\$119,718	10	\$11,972
11/8/24	Friday	98	\$5,514	\$83,130	\$88,644	8	\$11,081
11/7/24	Thursday	97	\$7,843	\$114,393	\$122,236	10	\$12,224
11/5/24	Tuesday	96	\$8,269	\$111,147	\$119,416	10	\$11,942
11/4/24	Monday	95	\$8,676	\$97,356	\$106,032	10	\$10,603
11/1/24	Friday	94	\$7,005	\$103,784	\$110,789	9	\$12,310
10/31/24	Thursday	93	\$5,063	\$119,853	\$124,916	10	\$12,492
10/29/24	Tuesday	92	\$6,859	\$128,501	\$135,360	10	\$13,536
10/28/24	Monday	91	\$6,734	\$108,693	\$115,427	10	\$11,543
10/25/24	Friday	90	\$7,690	\$126,153	\$133,843	11	\$12,168
10/24/24	Thursday	89	1071`7	\$169,463	\$180,180	10	\$18,018
10/22/24	Tuesday	88	\$7,996	\$91,202	\$99,198	11	\$9,018
10/21/24	Monday	87	\$8,314	\$118,701	\$127,015	11	\$11,547
10/18/24	Friday	86	\$8,206	\$106,675	\$114,881	11	\$10,444
10/17/24	Thursday	85	\$6,375	\$120,653	\$127,028	11	\$11,548
10/15/24	Tuesday	84	\$7,194	\$129,684	\$136,878	11	\$12,443
10/14/24	Monday	83	\$8,604	\$86,682	\$95,286	11	\$8,662
10/11/24	Friday	82	\$9,667	\$173,285	\$182,952	10	\$18,295
10/10/24	Thursday	81	\$7,775	\$94,461	\$102,236	10	\$10,224
10/8/24	Tuesday	80	\$6,650	\$94,332	\$100,982	10	\$10,098



Date	Day	Race Day	On track	export	Total Handle	# Races	Ave Race
10/7/24	Monday	79	\$5,296	\$105,024	\$110,320	9	\$12,258
10/4/24	Friday	78	\$9,220	\$99,226	\$108,446	10	\$10,845
10/3/24	Thursday	77	\$7,373	\$83,946	\$91,319	9	\$10,147
10/1/24	Tuesday	76	\$7,263	\$104,626	\$111,889	10	\$11,189
9/30/24	Monday	75	\$9,150	\$119,643	\$128,793	10	\$12,879
9/27/24	Friday	74	\$8,265	\$120,820	\$129,085	10	\$12,909
9/26/24	Thursday	73	\$8,054	\$86,451	\$94,505	10	\$9,451
9/24/24	Tuesday	72	\$6,102	\$131,782	\$137,884	11	\$12,535
9/23/24	Monday	71	\$9,806	\$127,312	\$137,118	11	\$12,465
9/20/24	Friday	70	\$7,306	\$158,862	\$166,168	10	\$16,617
9/19/24	Thursday	69	\$7,943	\$117,309	\$125,252	10	\$12,525
9/17/24	Tuesday	68	\$9,251	\$89,600	\$98,851	10	\$9,885
9/16/24	Monday	67	\$8,031	\$87,096	\$95,127	11	\$8,648
9/12/24	Thursday	66	\$9,053	\$110,514	\$119,567	11	\$10,870
9/10/24	Tuesday	65	\$9,976	\$99,839	\$109,815	11	\$9,983
9/9/24	Monday	64	\$10,000	\$92,080	\$102,080	11	\$9,280
9/5/24	Thursday	63	\$10,166	\$118,238	\$128,404	11	\$11,673
9/3/24	Tuesday	62	\$10,762	\$144,583	\$155,345	11	\$14,122
9/2/24	Monday	61	\$14,421	\$126,805	\$141,226	11	\$12,839
8/29/24	Thursday	60	\$8,108	\$131,896	\$140,004	11	\$12,728
8/27/24	Tuesday	59	\$10,473	\$148,944	\$159,417	11	\$14,492
8/26/24	Monday	58	\$7,690	\$112,847	\$120,537	11	\$10,958
8/22/24	Thursday	57	\$12,671	\$132,607	\$145,278	11	\$13,207
8/20/24	Tuesday	56	\$10,517	\$100,642	\$111,159	11	\$10,105
8/19/24	Monday	55	\$6,986	\$134,217	\$141,203	11	\$12,837
8/15/24	Thursday	54	\$2,440	\$30,544	\$32,984		3rd race due to tweather
8/13/24	Tuesday	53	\$9,927	\$119,074	\$129,001	11	\$11,727
8/12/24	Monday	52	\$12,188	\$133,976	\$146,164	11	\$13,288
8/8/24	Thursday	51	\$8,663	\$153,328	\$161,991	11	\$14,726
8/6/24	Tuesday	50	\$7,469	\$136,741	\$144,210	10	\$14,421
8/5/24	Monday	49	\$11,420	\$135,269	\$146,689	11	\$13,335



nariess norsemans Association of New England, Inc.								
Date	Day	Race Day	On track	export	Total Handle	# Races	Ave Race	
8/1/24	Thursday	48	\$8,667	\$136,684	\$145,351	11	\$13,214	
7/30/24	Tuesday	47	\$10,779	\$126,716	\$137,495	11	\$12,500	
7/29/24	Monday	46	\$9,552	\$148,397	\$157,949	11	\$14,359	
7/25/24	Thursday	45	\$8,517	\$103,101	\$111,618	9	\$12,402	
7/22/24	Monday	44	\$10,745	\$187,018	\$197,763	11	\$17,978	
7/21/24	Sunday	43	\$48,137	\$286,252	\$334,389	11	\$30,399	
7/18/24	Thursday	42	\$10,316	\$122,866	\$133,182	11	\$12,107	
7/16/24	Tuesday	41	\$5,984	\$164,401	\$170,385	11	\$15,490	
7/15/24	Monday	40	\$7,417	\$148,638	\$156,055	11	\$14,187	
7/11/24	Thursday	39	\$8,544	\$139,681	\$148,225	11	\$13,475	
7/9/24	Tuesday	38	\$7,289	\$201,156	\$208,445	11	\$18,950	
7/8/24	Monday	37	\$9,728	\$168,709	\$178,437	11	\$16,222	
7/4/24	Thursday	36	\$12,647	\$160,012	\$172,659	11	\$15,696	
7/2/24	Tuesday	35	\$11,827	\$198,837	\$210,664	11	\$19,151	
7/1/24	Monday	34	\$15,330	\$294,087	\$309,417	11	\$28,129	
6/27/24	Thursday	33	\$10,899	\$153,986	\$164,885	11	\$14,990	
6/25/24	Tuesday	32	\$11,850	\$120,272	\$132,122	11	\$12,011	
6/24/24	Monday	31	\$12,642	\$122,766	\$135,408	11	\$12,310	
6/20/24	Thursday	30	Cancelled Due to Inclement Weather					
6/18/24	Tuesday	29	\$10,927	\$165,038	\$175,965	11	\$15,997	
6/17/24	Monday	28	\$10,666	\$177,313	\$187,979	11	\$17,089	
6/13/24	Thursday	27	\$10,126	\$151,523	\$161,649	11	\$14,695	
6/11/24	Tuesday	26	\$11,140	\$153,198	\$164,338	11	\$14,940	
6/10/24	Monday	25	\$10,246	\$138,309	\$148,555	11	\$13,505	
6/6/24	Thursday	24	\$8,706	\$187,918	\$196,624	11	\$17,875	
6/4/24	Tuesday	23	\$12,517	\$169,440	\$181,957	11	\$16,542	
6/3/24	Monday	22	\$11,116	\$200,727	\$211,843	11	\$19,258	
5/30/24	Thursday	21	\$11,920	\$220,212	\$232,132	11	\$21,103	
5/28/24	Tuesday	20	\$9,732	\$135,370	\$145,102	11	\$13,191	
5/27/24	Monday	19	\$15,399	\$158,311	\$173,710	11	\$15,792	
5/23/24	Thursday	18	\$8,896	\$210,597	\$219,493	11	\$19,954	



Date	Day	Race Day	On track	export	Total Handle	# Races	Ave Race
5/21/24	Tuesday	17	\$11,911	\$187,421	\$199,332	11	\$18,121
5/20/24	Monday	16	\$12,360	\$197,629	\$209,989	11	\$19,090
5/16/24	Thursday	15	\$7,909	\$238,518	\$246,427	11	\$22,402
5/14/24	Tuesday	14	\$7,759	\$142,505	\$150,264	11	\$13,660
5/13/24	Monday	13	\$11,975	\$165,949	\$177,924	11	\$16,175
5/9/24	Thursday	12	\$8,823	\$217,109	\$225,932	11	\$20,539
5/7/24	Tuesday	11	\$12,070	\$210,348	\$222,418	11	\$20,220
5/6/24	Monday	10	\$7,261	\$219,318	\$226,579	11	\$20,598
5/2/24	Thursday	9	\$11,964	\$283,300	\$295,264	11	\$26,842
4/30/24	Tuesday	8	\$8,680	\$136,284	\$144,964	11	\$13,179
4/29/24	Monday	7	\$10,192	\$154,222	\$164,414	11	\$14,947
4/25/24	Thursday	6	\$11,255	\$214,220	\$225,475	11	\$20,498
4/23/24	Tuesday	5	\$9,068	\$116,686	\$125,754	11	\$11,432
4/22/24	Monday	4	\$10,278	\$167,359	\$177,637	11	\$16,149
4/18/24	Thursday	3	\$8,532	\$277,830	\$286,362	11	\$26,033
4/16/24	Tuesday	2	\$9,606	\$127,279	\$136,885	10	\$13,689
4/15/24	Monday	1	\$17,501	\$183,146	\$200,647	11	\$18,241